LT 2005 VF72&T 2000 R SCEE2-2

| IF7=-% T30 FTE XEE?2 NO. 2
2 H 2T &
| 2 425 Ay —F% 8 ZTEH L £4

| 212>F 3 ALY FT,
T—FODREEEIEE TV 51275 Y

= BN
%
Xz
Frua 5 AVnEd, | AL Z£5

230 AL 1 2, 90 H
NDYa2—-—RIARELITYET,
FAITWL 500 Y T3 H,

2

EA

AALUD% 60 AT oINS L, 5

7T IETET, 4 RAHFY F LI
AAUDIILEBTRIASHY £ T2

%

U}
P\\/

KFAEDOFE T ok
1 http://drill. es70. com/



LT 2005 VF72&T 2000 R SCEE2-2

I N 425 — 3 = 422

422 x 8 = 3376

B 3376 H

2| & & 230 x 5 = 1150
90 x 5 = 450
1150 + 450 = 1600 % 1600 H
BEE) 230 + 90 = 320
320 x 5 = 1600 %7 1600 H
3| = 60 x 7 4+ 4 = 424
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